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1. '�^�óXbP(λ)5µ,Íp.d.f.|f(x)����Jf(x) = (λ/x) ·f(x−1),∀x ≥
1, ¬D¡ f �Á�Âsß��

2. 'Yb�0���Ge(p)5µ, 0 < p < 1�ê'XbE(λ)5µ, Í�λ = − log(1 −
p)��JY

d
= [X], Í�[·]�t�JóÐó�

3. 'XbBe(α, β)5µ��Z = rX/(1−X), Í�r > 0
×ðó, �OZ�p.d.f.�

4. 'X�p.d.f.


f(x) =
√

2/πx2e−x2/2, x > 0�

(i) �Jf@
×p.d.f.;

(ii) 'YbΓ(3/2, β)5µ, �JZ = (2Y/β)1/2�p.d.f.Af�

5. 'X, Y�Ð)p.d.f.
f(x, y) = λ2e−λy, 0 ≤ x < y < ∞�
(i) �5½OXCY�\jp.d.f.’s�

(ii) 5½¼�XCYb£×ð�5µ, ¢ó
¢?

(iii) �®X�Y}ñÍ?

(iv) �OP (Y > 2X)�

6. 'X, Y�Ð)p.d.f.
f(x, y) = ye−xy−y, x, y > 0�

(i) �OY�\jp.d.f. fY (y), y > 0�

(ii) �O��Y = y�ì, X�f�p.d.f fX|Y (x|y), x, y > 0�

(iii) �¼�fX|Yb£×ð�5µ, ¢ó
¢�

(iv) �OE(X|y)CVar(X|y)�

7. 'X, Y
Þ}ñÝr.v.’s, v/bN (0, 1)5µ��

Z =

{
2X, uλX > Y,

−2X, uλX ≤ Y�

(i) �OZ�p.d.f. f(z), z ∈ R�(105)

(ii) ��J(i)��f(z), z ∈ R, @@
×p.d.f.�(55)

(iii) �OZ2�p.d.f., ¬¼�h
£×ð�5µ, ¢ó
¢�(55)


